
SAP ABAP table WCACM {WCM: Current Operational Condition/Type}

WCACM

MANDT [CLNT (3)]

IWERK [CHAR (4)]

CCOBJ [CHAR (40)]

CCTYP [CHAR (1)]

TGGRP [CHAR (1)]

ACTPROC [CHAR (10)]

ACTTYP [CHAR (3)]

T000

MANDT [CLNT (3)] WCACM-MANDT = T000-MANDT 0..N

0..N

T399I

MANDT [CLNT (3)]

IWERK [CHAR (4)] WCACM-IWERK = T399I-IWERK 0..N

0..N
WCCB

MANDT [CLNT (3)]

TGPROC [CHAR (10)]

 WCACM-ACTPROC = WCCB-TGPROC 
0..N0..N

WCCC

MANDT [CLNT (3)]

TGTYP [CHAR (3)]

 WCACM-ACTTYP = WCCC-TGTYP 

0..N

0..N

WCCD

MANDT [CLNT (3)]

TGGRP [CHAR (1)]

 WCACM-TGGRP = WCCD-TGGRP 

0..N

0..N


